Give the state table for the finite-state machine shown below
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Given the following relation :  {(a,a), (a,b), (b,c), (c,b), (c,d), (d,c), (d,b)} on the set {a,b,c,d}




a. draw the directed graph which represents it

(5 points)

b. represent it with a zero-one matrix


(5 point)

c. place a check under each property which is true for the relation   (5 points)

	reflexive
	symmetric 
	transitive
	irreflexive
	anti-symmetric

	
	
	
	
	


Remember that a relation R on a set S is called a partial ordering  if it is reflexive, antisymmetric (all arrows point upwards), and transitive.  
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